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Ve sions S-B refer to stoms for winch the occupied
atoma orbilals ane dhows helow
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5. Represents an stom thal 15 chemically umstenctive
& Represents a0 260 in an cxcited stste
7 Reprecont. an s10m tha has four vabeace electrons
% Reprignis an atorm of & LEamsion metal

akn 1o ! celer tr k
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A1 NH, ssd NH,CI

By H,PD, and NaH, PO,

{C) HCE and NaCi

D) KaDH and NH,

(E) NH, and HC,H,0, iscetic aod)

9 The sohslion with the fowed pH
10 The mosst nearly mewiral sohslion
o Abufferata pH > §
12 Abuffersta pH < &

Ouestions |3-)6 refor 10 e following descriprions of
bondreg o differest types of sobidy.

Ay Eﬁuu—iﬁliﬁir&

{C) Stroag umghe covalont bangds with wesk
imormolocolar foarces

{D) Siromg muitiple covalemt bonds (inciuding
iuiiig

{E} M hold together with sirong
poler bosds

11, Cexium chdaride, CaClix)

14, Goid, Auls)
1S, Carban deoasde, €O, (1)
16. Mcthane, CH, (x)
Chaestions 17-18 refer to the following clammus.
{A) Lithimm
{B) Micket
1) Brosmiss
{D) Unminm
{E} Flooroe
17 13 o gaa 3 standurd stwbe o 204 K

18 Reacts with wsber o form 2 strong bese

0 Wha maes of Au t produced whee §.0300 mol of AnS, i

reduced complexly with cxcens Hy7

(A} 985y
{B) 197
IC) 245
(D) 394y
{E} 430

4. xau__o-.oi% -i.n..i...lcﬁi_l.-ﬂ

25

26

ggsg
(A) CaCOs) — Ca0(s) + COAD

(B) 2 COupy + Oylg) —~ 2 OO
(C) PNOy ) + 2 Kits) — Polyis) + T KNOys

(D} CoHiglg) + 5 Oddm) — 3 COAL) * 4 H )
(E) 4 Lais) + 3040} = 2 La,Onr)

Timme

.—.rnoall-nli?.. & pire; mobwtnare &5 3 changes from a ligwid 10 &

wolic is showm alove. The solic snd the liquid cooxin ot

(A} poim @ only
(B) pomm & oaly

(CY sl poimts ou the cowrve betwars: 0 and 5
(1)) sl poimts o the Carve betwoen R and T
1{E} mo poimt on the cwrve

CioHpO5(0 + . O - . .COMg) + .. S04 « . - R

Wiken the oquation sbove is balmeced and Ml cocfficienty e rediced 1o
Lhewr jommst whole-susber sarme. the coefFo-ient for Oylp) is

Ay 6
B 7
{Cy 12
) 14
{E} 28

HySe(z) + 4 OF (51 — Sef,(p) + 2 HAg) + 4 Oyip

U Whach of the following 15 e rogarding \he reaction represenied
abovwe

14} The oxwdanon member of 7 does aol change

iB) The oxxtan ber of H changes from - | to +1.
() The oxicaki ber of F changes From +! 1o - |
(DY The oxwdstion number of Se¢ changes from -2 1o +6
(Er B s dusproporntionsteon reaction for F

32 Types of ybridization exhibied by tee C alowns

in propese, CH,CHCH,, inchade wiich of the
following?
[
LA
. s
(Al [omty
(B) Ml oty
() [ and T culy

(D} N and B onty
(E) I, (L s LE

Owestrons M4-35 refer 10w electrotyric cell that
involves the following half-reaction.

Eq..o.-...w\rl' Al + & F°

34, Which of the followisg occurs m the reaction
(A AR, is rodweed at the Cathxde.
{B) Al is oxidiaed st the mode,
(€7 Alumiwen is comversd from the -3 oar
dation sty 1 the { onidaltion stabe.
(D4 F~ acis o reducig sgeml.
{E3 F~ is vexhuced o the calihade.



2 50,(g) 1 2 $0:(g) + Oyl
1%, A siendy crent of 10 amperes it pessed throogh Iwitial Rate: of T60 . —_— )
an abemisow-proviuction coll for 13 miowe. Iniial NOJ | Inicial [0;] | Formation of NO, ) _ P_.,n%u“usin ol E....a”ﬂo;_ﬂ.?
siﬂifkiini Eaporimemt | (molL™") | (moiLY (mal L1371 b . ' a Afher
ﬁiﬂjﬁ&lﬂvﬂuﬁlﬁi&{ ! 010 040 | 28 x 1o" g cquilibriem is roestablished, which of the fok-
[ . : = .m lowiag kes & lower valwe compared 1o its value
Ay 10113 96 500 2 020 0.10 50 x 1074 af the original oqeilibrivm?
0 gz i .
@nih 3 020 0.40 O % 10} (A) K, Tor the reaction
(1) (15 {21 . B} The wtal in the bon vesset
_“-:A T un W, The it data i the table were o Tor the . (B} pressne i the Acaction v
representsd below. Wit is the caperimental rase Jaw for the reaction? 1T The amownt of S0,0g) 1 the reaction vesad
{10) (153 (60} (27) D) The smount of O,1g) in the reacti |
© [ (7} £ IR0+ Oylp) —+ NO,(p) ( 20K ™ WO e
6, 3003 € © The " " (E) The mmoumt of SO, (x) in the reaction
. {96, 3003 (I {tA) Rae = ${NOHO,| : ...voﬁ_ Which poist an the disgfim comesponds vessel
AmasHe0) ) ¥ ) 1o the equilibrium becwees the solid and Figwid
(B) R = LNOKO; ] phases a he normal meltng peint?
) {271 S RiyNig) ¢ HOM) = . Littegh + .. OHT(ag) + . NHp)
LT () (153 16 8 ) Rate = NOY(O,4] tAy A
@m 47. When the cquation sbove is balanced wnd all coefficient reduced (o lowest whok
(D) R = ENOV'(O, | ”w,_ b amber berms, the coefficiem for OH {ag) 15
NO 1Ey £ (A1
(€ tue = 1 1501 B 2
51 OF the Tpliowing mokcciles, which bas the largest )3
dipode momens? (D) 4
T - < (E) &
Tosization For clermenl X (ke ool ! [L 1A) CO
First Sacond Thard Fowrth By OO, '
! Filth iB) T 'y )iiiganwii.gn\iig%szﬁﬂg
i 1315 1740 11,500 14,800 (Cy Oy 11t the tnak when sdditonal oxygen is added M constant evperatae
L 1 HF "
37 The jonizarion emargies fov clemest X hatod in dee able sbove. Ow (A) The of the s N
thee bais of the dais, clement X i 3 iEr F, {B) The p of dee gas
is mowd likely 1o be i L] ?iii.i‘%iig_
(A} Na (D} The woisl sumber of gas molcew jrs the same.
(8 My (E) The average distance breween the pas snolecules moresses.
iy Al
(D) Si
Ey P



T When hafaism weetal it hosted m 28 amosphere
of chiorine pas. the product of the 5
Found to costain §2 2 percent HE by mary and
37 4 percent €1 by maxs. What ia the ctaperical
formula for this compound?

1A} HIC

{B) HAC1,

) HICY,

1Dy HAO,

(EY HECL,

1f &7 5 percer of & sumple of pure "N decays in

24 days, what Is the half-life of R

(Al &days
(B Bdays
(C) 12 dmys
1D 14 days
(EY 21 dmys

. I the periodic table, ws The sOMIC
ncresaes from | 1 10 17, what huppums o te
atomic radius?

1 A) 11 resnam CORSUIAL.

B3 | screases only

I \ncreascs, then decTesses.
(1) I decrenses only .

{E) it decreases, then inCreases.

2 NOcg) + Dy08) 2 2 NOz(g) AH <0

44 Which of the following changes alone wosld cmume & desyens i the valoe of

K, for the maction represensed abeve?

{A) Decressmy the wmperamee

(B} increasing the emparanre

1€} Decreasimg tho volom of the roction vessel
Lol W the volwme of the bon venne]
(E) Adding a culalyst

10 M + 2 Kiu, + 3 H;SO, - 5 |, + 2 MaS0, + K;50, + 8 HO

55 Accordeeg w0 the balanced oquation above, how mamy wooles of HI would be meces-

sary to prodace 2.5 mol of 1, sarting with 4.0 mol of Km0, wed 3.0 mol of
Hy 80,7 ' .

(Al 2.

(B

1y A0

D) 50

" aE) 23

6. A yeHow precipitate forms wiven 0.5 M Naliog) ¢5 added 1o 2 0.3 M sobaison of

which of the Following jone?
1A) P (aq)
m M.-HAIS..

) OOz T aq)

{1 SO, 1ag)
{E) OH tagq)

Miry + 3 Agtioq) = 1 Agtr) + M™aq) En+ 246V
Aglag) + 7 —r Agln) o=+ 0MY

. hocording to e mformation shove, what is the smdand reduction potential for the

half-remctiom MYlag) + 3 »~ = M

(A ~-166V
{B) -006 v
o 06V

i 166V
By iV

5 A 400 ml sample of 0.25 M KOH is added o
6.0 mL of 0.15 M BalOH}, What 15 the molar
concereraton of OH"{ag] in the mawiting soh-
uon” (Assume that the volurmes e additive )

NH NG5t = NOgt + 2 H,O0g)

b A 0.03 mol sample of NHNOsis) is placed in
41 1 evacuated Mask, which is thea sealed and
hoated. The NH NOJs) decomposes completely
according 1o the bulonced equation sbove. The

choaest to which of the following? (The value of
the gus constant, K, is 0.082 L atm mo) ™' K1)

!

b
5
-
k-]
20
15
A0 x
O 05

[+] 1 P k] 4 5
Tine {bours)

63 The graph shove showl tie results of 3 study of the resction of X

with a large excess of T o yiekd Z The comcentrainoms of X and
I were pasared over & peviod of time. According to the reselis,

which of the following cas be couchubed about the mes Law For the
tA) H i zero onder in [X].

(B) 11 is Fure owdes in | X).

(C} R is second order n |X]

(DN 1 is first order o [F].

(E) The overadl onder of the resction is 1.

64 Equal emenbers of moles of Me(gh, Arlz), sad Ne(x) wre

1&!-%&1!3‘%.#*&[
2 proiole-sized Tosk, whick of the folkering will be trt
a}iilaiaa?‘iillﬂ&i
pames resmaining i the vesscl aficr some of the gas mixtars
has effased?

(M) Py € P < Pas

1B Py < P < Pre

(C) P < Pos < Py

(D) Py, < P < Pre

B) P = Pe ™ Pria
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When solid ammonium chloride, NH,Clis), is added to
water at 25°C, it diasolves and the temperanuz of the
solution decreases. Which of the following is true for the
values of A#H and AS for the dissolving process?

AH as
(A} Positive  Positive
iB) Positive  Negaiive
(C) Positive  Ecpual 1o zero
(D} Negative  Positive
{E) Negstive Negative
- 1n which of the following processes are covalent
bonds broken?
(A) 115 = Iig

(B) COyn) - COugy
(£ NaClig) — NaClif)
tD) Cidiamond) — C(g)
LE} Fe{s) — Feid)

What ix the finw concentration of barumn ions,
[Ba™}. in solution when (00. mL of 0.10 M
BaCllag) s mixed with 100 ml of 0050 M
H,50 (ag) 7

(A} 0.00 M

(B) D02 M

i€y 0.025 M

(D) 0.075 M

By 0.10M

73. The volume of distilled water that should e

added o 10.0 mL of 6.00 M HCHag) in order
1o prepare 3 0.500 M HCl(aq) solution is
approaitately

{A) $00mL

(By 600ml

{Cy 100. mL

(03 110, mL

(E) 120. mL

4. Which of the following gases deviates mosc from
ideal behavior?

(A) SO,
(B} Ne
() CH,
{Dy N,
fE} H,



